Fascia assembly instructions

The fascia pack supplied is used on a
number of different fires.

It needs to be assembled according to these
instructions to suit your model.

The additional parts required will be found
packed with the fire in the main carton.

o) | \ Hood to frame with
v ’, 4 self-tapping screws N
'

@Hl,! %.——— M4 x10 Screw
-]

M5 x 8 Screw
/ _:;
h |3 Bracketstoframe X
with 4 screws

Remove screen
(2screws)

FitlongM5 Fit longM5
Hanging ?”, 8 g ‘“\? Hanging
Screw. ! Screw.
Leavea10mm N ° Leavea 10mm
gapfromthe @ @ @ Q gapfromthe
underside of - - underside of
the screw head W’ the screw head
totheface of % ‘ tothe face of
the casting. ( z N \ the casting.

Fuelbedtoframe with 2 off M5 screws (previously removed from screen Jand washers

Dream / Bolero Electric

Sliderassembly
to frame with

sSCcrews

Remove infillcasting
(2 screws)

Hood Assembly to
frame with
4 self-tapping screws

Dream Convector

Remove
brackets
(4 screws)

Bolero

Sliderassembly
toframewith

Screws

Removeinfill casting
(2screws)

Sidetrimstoframe with4 screws
asshown

Dream Multiflue Convector

Hoodtoframe with
/ 4 self-tapping screws
4

%/ M4 x10 Screw

M5x8 Screw
Sidetrimstoframe
with4 screws

asshown

M5x8 Screw R

Dream Powerflue

5109629/02




